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[ s SevLiumeus esiey - 2024 Csirey stewr )
: Qa)w’ : 1-30 wemfl : X - &,Gaufg,lb wSli16lLievr : 5@'
‘  us -1 .

(g;ﬂuq 1) awa1ss alemésessen alam uafiEsayb. ' (7x1=7)

2) efunen afewows Csi505HS8! s1psis.
Note : 1) Answer all the questions. 2) Choose the best answer.
1. n(AxB)=6 wnmib A={1, 3} sresflev, n(B) SIS :

nt 2)2 3)3 4)6
If n(AxB)=6 and A={1, 3} then n(B) is . :
1)1 2)2 : - 3)3 oo A) 6

2. (a+ 2, 4) vHmin (5, 2a+b) AW aufenssCemysen swib erefley (a, b) etz
1@, -2) 2 (5, 1) 3)(2,3)-. 4 (3, -2)
If the ordered pairs (a+2, 4) and (5, 2a+b) are equal then (a,b)is
1) (2, -2) 2)(5,1) . 3) (2, 3) - 4) (3, -2)

« 3. f(x)=2x* wHmitb g(x)=1/3x sresflsv fog%mg,j i :

1) 3/2x2 2) 2/3x? 3) 2/9x? . 4)1/6x2.
If f(x)=2x* and g(x)=1/3x then fog is . . ]
1) 3/2x% 2) 2/3x2 3) 2/9x2 : 4) 1/6x2

4, ReMI&ClGETeTDIeT sTiy Seucur o asmg&suu@m
1) @myméeniy )emuperiy  3) G iy 4) e_smemiy
A one one function is also called : ' i
1) Bijective function 2) Injective function
3) On-to function ‘ 4) In-to function

5. 65 wpmibd 117uletr 5.Qlun.eu smeu 65M-{117 steitm euig efled erpgin Cum g m-uletr

oy | |

1)4° L 2)2 3)1 4) 3
If the HCF of 65-and 117 is expressuble in the form of 65m-117, then the value of m is
1) 4 . 2)2 3)1 43

6. M sl B 50 srtauflansulsn 6eugl o minls 6 i kigb Teug 2. minSletr 7
LLRIGLD F0 16afled 58" H15 Ogm_iauflensulen 13-eug o mity

1Ho 2)6 : 3)7 4)13
If 6 times of 6th therm of an A.P is equal to 7 times the 7th term, then the 13th term
of the A.P. is
‘1o SEEEE)" 3)7 ' 413
7. 7%= (L@ 100) ‘ , 7 P ‘
1)1 2)2 3)3. 4) 4
7%= (mod 100) , e ‘ '
1)1 ' 2)2 3)3. . , 4) 4
ugd - 2
&Puy:  gCoeybd mis alanssens® o wallss. (sCrw afsrr 14) (5x2=10)

Note: Answer any 5 questions. Compulsory question 14,

8. AxB={(3, 2), (3, 4), (5, 2), (5, 4)} erexfled A LHMULD B g5 srevors.
If AxB={(3, 2), (3, 4), (5, 2), (5, 4)} then find A and B.

Q. A={1, 2, 3, 4....,45} wHmw R ererm 2_may “A uller BSal @r'r srewrenflest eun&aL” 1w
USTUDISESEIULLT® R-g AXA-ller e seawwrs auss.Coab R-ssrer
wAUUS S SWID 6568855 FW|ID SH16TTS.

Let A={1, 2, 3, 4....,45} and R be the relation defi ned as “square is of a number” on A.
Write R as a subset of AxA. Also find the domain and range of R.

10.  fof(k)=5, f(k)=2k-1 stesfle0 k-uSleir wHlenLIs Snews,

- Find kiif fof(k)=5 if where f(k)=2k-1.

11 weaflgen aug a6 aufl(penmenuwis ummu@g,eﬂu ﬂmm@mmmpg‘ﬂm B.Qlum. ey

anevuis. 867 whmib 255

Use Euclid's Division Algorithm to find the Highest Common Factor (HCF) of 867 and 255

10-senfigin-1
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12,

13.

14.

W36 10 Bwed erevmrsenned BHullsigd) e UL &oatqw SAblw e 6112

Find the least number that is divisible by the first ten natural numbers.

143+5+....40 2 piisen auenr oG sreTs.

Find the sum of 1+3+5+....to 40 terms.

@ QumsE &g auflensulley 2 eugl 2 miiy V6 wpmib Beugl 2 il 9V6 ctearfleo
Qun gl s (r) eows srevurs.

Find the common ratio (r) of a Geometric Progression in which the 2nd term is V6 and

the 6th term is 9~/5 o }
ugd - 3

| oduy: aCseyb mE s a?dnréa@é@ S wallss. '(auLl.rfu afarr 21) (5x5=25)
Note: Answer any 5 questions. Compulsory question 21, '

15. -A={xeN | 1<x<4}, B={xeW|0<x<2} wpmitb C={xeN| x<3} starflés AX(BUC)=(AXB) L(AXC)
SINSSHTL_(D\&. _ ' 7 e
Let A={xeN | 1<x<4}, B={xeW|0<x<2} and C={xeN| x<3}. Then verify that
AX(BUC)=(AXB) U(AXC). 4 o
) ' : . Xf » ? B ! y : "
6. f : A->B eetip eniurens f(x)=37 L amrunssuu@Ang. Pmo
A={2, 4, 6, 10, 12}, B={0, 1, 2, 4, 5, 9} 28 Bm&E D Gung] gniry f-gn Sebteumd
yepsafled @hlas. ' ' A
1) aflenss Cargseflen sewrip 2) oi-Leuenever
3) siby&GMILL D _ 4) auemyuL_b
‘ X ,
Let f : A>B be a function defined by f(x)=7 ~! where A={2, 4, 6, 10, 12},
B={0, 1, 2, 4, 5, 9}. Represent f by. : - e
1) set of ordered pairs 2) a table
: 3) an arrow diagram ‘ 4) a graph o
17.  Qar@éasiul L f(x), 9(x), h(x) g Aweunenms Qarsimr(® (fog)oh=fo(goh) TSI (N&.
f(x)=x% g(x)=2x whHmyb h(x)=x+4 ; i o
Consider the functions f(x), g(x), h(x) as given below. Show that (fog)oh=fo(goh) in each
case. f(x)=x?, g(x)=2x and h(x)=x+4 --
18. ' 5+55+555+... st Cgrieuflensullen (1psed N o miciys el (D560 HrevIS.
Find the sum to n terms of the series 5+55+555+... : .
19.  a;=1, a,=1 wpmid a,=2a, +a, 5, N2 3, neN aafler Azn_icuflenaulien a6 LY
2_MILILS6meT SI6Tus. Fats :
Ifa,=1,a,=1 and an=2an_l+'an_2, n > 3, neN then find the first six terms of the sequence.
20. sm(gev snews. 152+162+172+.....4282
Find the sum of 1524+162+17%+.....+282
21, ig;:glb 1000-5@b QLG 1156 aGuUBb siemesg Buwed steimaaflsi &n (D H60
Find the sum of all natural numbers between 100 and 1000 which are divisible by 11.
. s ugs - 4 ' |
ePliy:  sywens gy ol ssens e S weflssayb. _ (1x8=8)

Note:  Answer the following questions.

22.

3 Qar@&s0UL L (1p&CanewTid PQR&@® &8 ussmaaflsn &0 3/5 erew
SIEDOWLOTD) @ suigCleun & 5 (1p&Cansmrid eusnis. (Stemey snyewfl 3/5< 1)
. - - ‘ - Ly (aa.,wa) |
&) CanQEsuul L 1p&Garemtic ABC-uSlen P85 Lsshsalsr Nfsn 6/5 eron
SIEDDLWLI DI R euigCleur § g (Lp&Canemtid eusnys (6 anrenfl 6/5 >1
a) Construct a triapgle similar to a given triangle PQR with its sides equal to 3/)5 of the
corresponding sides of the triangle PQR (scale factor 3/5 < 1)
' (OR) "
b) Construct a triangle similar to a given triangle ABC with its sides equal to 6/5 of the

corresponding sides of the triangle ABC (scale factor 6/5 >1
A ) 10-Maths-1
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